
FRONT WHEEL COMPLETE V1.0

##-TO SPECIFY  COLOR*

BK-BLACK WH-WHITE LM-LIME

8

1

2

3

4

5

ALIGNMENT BOLT 
B1S - 03BL - XXM446

M4 WASHER     
M1S - 04BL - FW0410

M4 SPRING WASHER 
06 - M54 - M4LWS

M4 NUT     
B1C - 20X - XXM4XX

M4 NYLOCK NUT   
B1C - 37X - XXM4XX

ALIGNMENT BOLT SET 
B1S - 03BL - FWASSM

6

5

7
M4X22 BOLT
B1C - 11X - XXM422

* FRONT WHEEL ASSEM
P1S - 61## - FWASSM




